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Figure 1: Simulations of incremental processes: ring 
rolling (left side) and cogging (right side). 
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Figure 2: Isovalues of equivalent strain rate for an open 
die forging simulation with localised deformation. 

)�( �����������

���� 8������ ������� ��� ��5�$�	��� <����
� ���� ���$�9�

$�9���6� A(B�� <����� ��� �� 	���$$�$� .�
���� �$���
��� �����

���������� ����������$� .����

�����$����
��
����5�$�	���

<����
������4��
���	��.���
�������������������1�

)�� �
� A#3!B�� ��� ���9������
� ����	������$����6��.�	���������

�������5��$���$�;�����.�������
�1����� �
���
������
����0�

���<�� ���� $���$�;����7��5�$�
�� �����
� ����� .��� �� ��

�

�

����$����
1�4������
��������������5����������$��$����
���
���

�<�� 	������ ���� C�����
���$� ��$��$����
D�� <����� ��� ����

������/	�
��5����
������C������$���$��$����
D��<��������

��
�$6� $���� �/	�
��5��� �
�� <����� ����� ��
� �$����� 9��


�
$������ �
� �� .����� �		�����1� ���� �����
���$�

��$��$����
������
���
��
��
����������������������������

�����
���$������+��,��<���������9���
���96����	����$�

����.�
���
�1��������������
��.�
�����
��9���	��5�������

���	������
�$��������������1�����������$���$��$����
����

	��.�������
�����.���
����������$�����$$�������������$�

�����+��,��<������������
�.���$6�.�
���������;����������

������$�����$����
���7���������������.�
����;���$$��5�������

���	�
�
�1� ���� ��� ��� �$��� ���� ���
� ������ <����� ���

����� ��� ������ �$$� ���� ������3�����
���$� ������ ���

	��5���

���5��6�
�����������6�.�������������6�5����9$���

+���	��������������
�������������E,1�������	������
��.�����

�����
���$� ��$��$����
� .���� ���� ������$� ��$��$����
� ���

�
���.� �������
� �

�5����
��.� ����8�������������<����

���	�������	��5�������������A#3!B>��������$$�<��:��	�

���

��
�� �������6� �
� ���� ������$� ��$��$����
� +<����� <���

��
�������� ��� �
�� �.� ���� ���
� $��������
� �.� 	��5�����

�		�������� A!B,1� ���� �
���
���� ��
���� !� ���<�� �����

���	�������� �
�.���$6� �5�$5��� ����

� ��

�

�� �
$�:��

���� �����
���$� 5����9$��� ����� ���� ��
�$6� $���$�;��� �
��

<����� 5�������
�� ���� 
�
$�
�9$�� �������� ���� ��.�������
�

�����+������
����0,1�

�

Figure 3: Temperature isovalues (variables evolving over 
all the mesh) during cogging. 
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Figure 4: Isovalues of equivalent strain rate given by the 
Bimesh method (upper part) and by the standard method 
(lower part)
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